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Question No : 1

Which tool can be used to diagnose installation problems?

A. checkmxserver.sh or .bat

B. Customization detection cool

C. Tivoli's process automation suite configuration tool
D. Reconfiguration Tool for Administrative Workstations

Answer: C

Question No : 2

A company is installing a new instance of Maximo on Linux and Maximo database creation
fails.

Where can files be found to help determine why it failed? (Choose two.)

A. /opt/IBM/SMP/ConfgTool/logs/

B. /opt/IBM/SMP/properties/versions/

C. /opt/IBM/SMP/maximo/tool/maximo/logs/

D. /opt/IBM/SMP/ConfigTool/database/logs/

E. /opt/IBM/SMP/ConfigTool/ant/WAS_ND_ Configuration/logs/

Answer: A,D

Question No : 3

A company wants to optimize query performance using Maximo search options.

Which of the following is the best option?

A. None
B. Index
C. Exact
D. Wildcard

Answer: A
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Question No : 4

An administrator has decided to set the system property mxe.db.fetchResultLogLimit.

What does this property do?

A. Generates mbo counts in the log file.

B. Generates exceptions in the log for error conditions.

C. Generates an exception in the log for too many objects in memory.

D. Generates an exception in the log for the specified number of objects in a single mbo
set.

Answer: A

Question No : 5

A company wants to configure WebSphere Application Server for Maximo manually.

Which must exist before the environment can be used? (Choose two.)

A. IBM Java 7 SDK installed

B. A deployment manager profile

C. At least one WebSphere application cluster

D. A data source to store JMS messages in a DB2 database

E. An LDAP repository (such as IBM Tivoli Directory Server) for Global Security

Answer: B,D

Question No : 6

A company has a requirement to modify a purchase requisition publish channel and filter
out requisitions that have a status of APPR. This should be accomplished without
developing any new code.

Which method should they implement to accomplish this?
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A. User Exit

B. Message Routing
C. Processing Rules
D. Automation Scripts

Answer: A

Question No : 7

A company wishes to change the logic within a Workflow process but users currently have
records within the process.

Which would be the correct method to achieve this?

A. Create a process revision, validate, enable and activate it.

B. Suspend the Workflow process, make the required changes and activate it.

C. Disable and Deactivate the Workflow, make the required changes and activate it.
D. Update the workflow process logic and perform an Admin Mode Database
Configuration.

Answer: C

Question No : 8

A company has three organizations, two of which share the same General Ledger
accounting structure and one organization with a different accounting structure.

Which application is used to define these structures for all organizations?

A. Domains

B. Cost Management

C. Chart of Accounts

D. Database Configuration

Answer: D

Question No : 9
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A company wants to conditionally display data the user sees in a Maximo application.

What choices are available to accomplish this? (Choose three.)

A. Action

B. Control

C. Escalation

D. Java Class

E. Expression

F. Automaton Script

Answer: B,C,D

Question No : 10

Which database factor will most affect Maximo performance?

A. The number of Maximo tables.

B. Location of Maximo user records.

C. The number of database user accounts.

D. Location of Maximo database tables and indexes.

Answer: C
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